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DI table Chart Questions for SBI PO Pre, IBPS PO Pre, SBI Clerk 

Mains and IBPS Clerk Mains Exams. 
DI Table Chart No.  113 
 

Directions: Study the following table chart carefully and answer the questions given beside. 
 

The chart shows the number of employees in various department in 5 companies. 
 

  ABC Group JMD BCGI Younker Zelman 

TECHNICAL 200 350 270 70 120 

OPERATIONS 175 200 150 340 180 

H.R 50 30 25 35 20 

FINANCE 300 50 120 100 75 
 

 
1. Find the ratio of employees of Technical, Operations and Finance between BCGI and 

Younker companies. 

A. 18 : 17  B. 17 : 16  C. 19 : 21  D. 32 : 33  E. None of these 
 

2. What percentage of total employees are in Operations department for all companies? 

A. 36.53%  B. 35.23%  C. 37.42%  D. 29.82%  E. None of these 
 

3. Find the average number of employees from the Technical department hired by all 
companies taken together. 

A. 200   B. 205   C. 198   D. 198   E. None of these 
 

4. What is the percentage of technical and operations employees in BCGI as compared to 
operations and H.R employees in Younker? 

A. 12%   B. 108%  C. 114%  D. 96%   E. None of these 
 

5.  What is the percentage of H.R employees in Zelman? 

A. 7%   B. 5.06%  C. 4.98%  D. 5.6%  E. None of these 
  

Correct Answers: 

1 2 3 4 5 

A A E E B 

 



 

 

Explanations :  

 
1.   Employs In BCGI in required department = 270 + 150 + 120 = 540 
  

Employs In Younker in required department = 70 + 340 + 100 = 510 
  

Required ratio = 18 : 17 
  

Hence, option A is correct. 
 
 

2. Employees In operations = 1045 
  

Total employees in 5 companies = 2860 
  

Required percentage = 36.53% 
  

Hence, option A is correct. 

 
 

3. Total technical employees hired by 5 companies = 1010 
 

Average =  
1010 

 = 202 
5 

 
Hence, option E is correct. 

 
 

4.   Technical and operations employees in BCGI =420 
 
Operation and H.R employee in Younker = 375 
 

Reqd. % =  
420 × 100 

 = 112% 
375 

 
Hence, option E is correct. 

 
 

5. Total employee in Zelman = 395 
 
Total HR in Zelman = 20 
 

Reqd. % =  
20 

 × 100 = 5.06% 
395 

 
Hence, option B is correct. 
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